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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define business economics. “Business Economics is 

economics applied in decision making.” Explain. 

O;kolkf;d vFkZ’kkL= dks ifjHkkf”kr dhft,A ßO;kolkf;d 

vFkZ’kkL= og vFkZ’kkL= gS] ftldk iz;ksx fu.kZ;u gsrq fd;k 

tkrk gSAÞ O;k[;k dhft,A 

2. What is the difference between Incremental concept 

and Marginal concept ? When can the decision by an 

entrepreneur be considered valid according to the 

incremental principle ? 

o`f)’khyrk vo/kkj.kk rFkk lhekUr vo/kkj.kk esa D;k vUrj 

gS \ fdlh m|edrkZ }kjk o`f}’khyrk fl)kUr ds vk/kkj ij 

fy;k fu.kZ; dc vkSfpR;iw.kZ dgk tk ldrk gS \ 

3. Explain the properties of indifference curve and 

explain consumer‟s equilibrium through indifference 

curves. 

rVLFkrk oØ dh fo’ks”krkvksa dh O;k[;k dhft, rFkk 

rVLFkrk oØ ds ek/;e ls miHkksDrk&lkE; dh O;k[;k 

dhft,A 
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4. What do you mean by price discrimination ? Explain 

the conditions under which price discrimination is 

possible and profitable. 

ewY; foHksn ls vki D;k le>rs gSa \ mu fLFkfr;ksa dh 

O;k[;k dhft, ftlds vUrxZr ewY;&foHksn lEHko rFkk 

ykHkizn gksrk gSA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Micro economics 

lw{e vFkZ’kkL= 

2. Price consumption curve 

ewY; miHkksx oØ 

3. Variable cost 

ifjorZu‘khy ykxr 

4. Kinked demand curve 

fodqafpr ek¡x oØ 

5. Skimming Pricing 

eykbZnkj dher fu/kkZj.k 



 [ 4 ] MCM–103/M.COM–06 

 (B-69) 

6. Firm‟s equilibrium 

QeZ dk lkE; 

7. Disguised unemployment 

izPNé csjkstxkjh 

8. Gross Domestic Product 

ldy ?kjsyw mRikn 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Opportunity cost implies : 

(a) A bargain price for a factor of production  

(b) Cost related to an optimum level of production 

(c) Average variable cost 

(d) A cost which represents the benefits of the next 

best alternative sacrificed due to choice of the 

best alternative 
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volj ykxr lfufgrkFkZ gS % 

¼v½ mRiknu ds fdlh ?kVd dk lkSnsckth }kjk fu/kkZfjr 

ewY; 

¼c½ vuqdwyre mRiknu&Lrj ls lEcfU/kr ykxr 

¼l½ vkSlr ifjorZu’khy ykxr  

¼n½ loksZŸke fodYi ds p;u djus ds dkj.k nwljs loZJs”B 

fodYi ls izkIr R;kxk gqvk ykHk 

2. Consumer wants refer to : 

(a) All those things‟s a consumer would like to have 

(b) The goods and services for which a consumer is 

able and is willing to pay 

(c) All those goods required by a consumer for his 

survival 

(d) All the items within a consumer‟s purchasing 

powers 

miHkksDrk dh vko’;drkvksa ls rkRi;Z gS % 

¼v½ os lHkh oLrq,¡ ftUgsa ,d miHkksDrk vius ikl j[kuk 

pkgrk gS 

¼c½ os lHkh oLrq,¡ rFkk lsok,¡ ftuds fy, ,d miHkksDrk 

Hkqxrku djus dh ;ksX;rk ,oa bPNk j[krk gS 

¼l½ os lHkh oLrq,¡ tks fdlh miHkksDrk dh thouj{kk gsrq 

mldh n`f”V esa vko’;d gksa 

¼n½ os lHkh ensa tks fdlh miHkksDrk dh Ø; ‘kfDr dh 

lhek esa gksa 
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3. Consider a demand curve which takes the form of a 

straight line touching both axes. Elasticity at the mid-

point of the line would be : 

(a) 0 (zero) 

(b) 1 

(c) 
1

1
2

  

(d) 2 

fdlh ,sls ek¡x oØ ij fopkj dhft, tks lh/kh jssss ss[kk ds :i 

esa nksuksa v{kksa dks Li’kZ djrh gksA bl js[kk ds e/; esa fLFkr 

fcUnq ij yksp fuEufyf[kr esa ls fdlds cjkcj gksxh \ 

¼v½ 0 ¼’kwU;½ ds 

¼c½ 1 ds 

¼l½ 
1

1
2
 ds 

¼n½ 2 ds 

4. In calculating a country‟s Gross National Product 

(GNP) at market prices, which one of the following is 

not included ? 

(a) Wages and salaries before tax 

(b) Indirect taxes 

(c) Retirement pension 

(d) Subsidies 
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fdlh ns’k ds ldy] jk”Vªh; mRikn dh x.kuk esa 

fuEufyf[kr esa ls fdls lEefyr ugha fd;k tkrk \ 

¼v½ dj ds iwoZ etnwjh rFkk osru 

¼c½ vizR;{k dj 

¼l½ fjVk;jesaV isa’ku 

¼n½ lfClMh 

5. The rate of exchange between two goods in 

indifference curve analysis is shown by : 

(a) The price line 

(b) The Income Consumption Curve 

(c) The Price Consumption Curve 

(d) The indifference curve 

rVLFkrk oØ fo’ys”k.k ds vUrxZr fdUgha nks oLrqvksa ds chp 

fofue; vuqikr dks iznf’kZr fd;k tkrk gS % 

¼v½ ewY; js[kk }kjk 

¼c½ vk;&miHkksx oØ }kjk 

¼l½ ewY;&miHkksx oØ }kjk 

¼n½ rVLFkrk oØ }kjk 

6. Marginal Cost curve cuts the Average Cost curve : 

(a) At the left of its lowest point : 

(b) At its lowest point 

(c) At the right of its lowest point 

(d) None of the above 
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lhekUr ykxr oØ vkSlr ykxr oØ dks dkVrk gS % 

¼v½ mlds U;wure fcUnq dh ckbZa vksj 

¼c½ mlds U;wure fcUnq ij 

¼l½ mlds U;wure fcUnq dh nk;ha vksj 

¼n½ dgha Hkh ugha 

7. The law of Diminishing Return depends on the 

assumption that : 

(a) Land is kept constant 

(b) The state of technical knowledge is constant 

(c) Total output is constant  

(d) Average output declines faster than the marginal 

output 

kleku mRifŸk dk fu;e vk/kkfjr gS bl ekU;rk ij fd % 

¼v½ Hkwfe dks fLFkj j[kk x;k gS  

¼c½ rduhdh Kku dk Lrj fLFkj gS 

¼l½ dqy mRiknu fLFkj gS 

¼n½ vkSlr mRiknu lhekUr mRiknu ls rhoz xfr ls uhps 

fxjrk gS 

8. Which of the following motives is not associated with 

Keynesian concept ? 

(a) Transaction motive 

(b) Precautionary motive 

(c) Lending motive 

(d) Speculative motive 
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fuEufyf[kr mís’;ksa esa ls dkSu dhUl dh vo/kkj.kk ls 

lEcfU/kr gS \ 

¼v½ ysunsu mís’; 

¼c½ lko/kkuh mís’; 

¼l½ m/kkj nsus dk mís’; 

¼n½ lêk mís’; 

9. Who of the following propounded the wage theory of 

Profit ? 

(a) T. R. Malthus 

(b) David Ricardo 

(c) F. Taussig 

(d) Carver 

fuEufyf[kr esa ls fdlus ykHk ds etnwjh fl)kUr dks 

izfrikfnr fd;k \ 

¼v½ Vh- vkj- ekYFkl us 

¼c½ MsfoM fjdkMksZ us 

¼l½ ,Q- VkWft+x us 

¼n½ dkoZj us 

10. When price rises rapidly, it is called : 

(a) Worst inflation 
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(b) Creeping inflation 

(c) Hyper inflation 

(d) Demand pull inflation 

tc dher cgqr rsth ls c<+us yxrh gS rks mls fuEufyf[kr 

esa ls D;k dgk tkrk gS \ 

¼v½ lokZf/kd fu”d`”V LQhfr 

¼c½ jasxrh gqbZ LQhfr 

¼l½ vR;Ur Å¡ph LQhfr 

¼n½ ek¡x izsfjr LQhfr 
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